EARAROBEEIERT — 2 N— IBISH —F

20165118158 (K) 13EIAH2H

3R WE YA A ‘ %] & ‘ [eErsm]  — | 4 (&) 1600M A&
[A&4£] 1% :2,700,000 @ 23 :1,080,000 @ 3 3&:675,000 @ 4 3% :405,000 @ 5 7 :270,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
- = e BEEXH 145, -1-1- . — TEILBEE (/)\E)
(b7l 7| 75¥ b ED- <) [ R s Y ek
R:ikStEP R BIIRNT—LRF—Y L — Xk — A4S
N < A 2 | HEARER 1:47.3 4-4-3-2 | 40.4| — 7 519 |BRE (KH#)
EH 3| ¥F—7d—1>7 # 55.0 @) L
R:TIRAFIEI BNLVEY FF—2X NIVEY T 7— L
. SEER : ~5-3- — HiBEZ (KH)
alsls| 7T/ -k w25 [ S IR R P | mex
RHTIRTAYT BIAZITFAT T HE Em
RS # 2 | KHAEZ 1:48.5 2-3-2-2 | M.7| — 8 458 | TASER (KH)
4 6| T~ FTN— 54.0 (1 1/2) () |ERE—
R:viNyBgLhT1 B:F1F—N—F« ERHUS
S 2 | ENIRE 1:48.6 7-7-6-5 | 41.4| — 4 480 | EEBHEX (KH)
5PN 4|7V IT— # 54.0 (1/2) (o) |EFIVT
:ZAw— 773> B4 d—d—ILFK Va—-T7—L4L
4 2 | R 1:48.9 6-6-7-7 | 41.3| — 8 491 | /NEFSFERE (V)
6 2| 7—bhT7—=UR 55.0 (1 3/4) (=) | KARER
RNAT—4—L B:7—hOv> KEAHS
N KI5 S : —8-8- - SCAEMR (KFH)
7lglg | HvE—TVULZ o2 | o 1(74?:5) 8-8-8-8 | 41.4 6 (433) i
R:F1—T2h4 B:v¥x/T3)I FEO%%E
_ B D. ~OY 1y : 05— — BEER (KH)
8111 Ly by FZ4 K # 2 55.0 " (,fg-g) BB B & (A‘i7) %Eﬂﬁ%ﬁﬁ
RHTIRKTAYT BiFwR5—KT—4 HET7— L
® I —F—@EBIERL
i3=3r= 7,(1,6),3,5,2,4,8
Aol=5r= 7,1,6,3,5,2,4,8
Jo=3r= 7,6,(3,5),1,4,2,8
A== — 7,(3,5,6),4,1,2,8
[ RN
B OB 7 280 714K 3-7 780M B E 3-7 2,090M &R 3-5-7 4,830
8 B 7 140/ 5-7 600F B H 7-3 2,610 JEH 7-3-5 18,250M
3 450/ 3-5 1,660
5 220M

ABICOVWTRDTEEERROODE. TR LIV,




